

$$10) \lim_{x \rightarrow 2} \frac{2x^3 - 16}{x - 2} = \lim_{x \rightarrow 2} \frac{2(x^3 - 8)}{x - 2} = \lim_{x \rightarrow 2} \frac{2(x-2)(x^2 + 2x + 4)}{x - 2}$$

$$= 2[(2)^2 + 2(2) + 4] = 2[4 + 4 + 4] = \boxed{24}$$

$$11) \lim_{x \rightarrow \frac{\pi}{2}} \frac{\sin x - 1}{x - \frac{\pi}{2}} \cdot \frac{(\sin x + 1)}{(\sin x + 1)} = \lim_{x \rightarrow \frac{\pi}{2}} \frac{\sin^2 x - 1}{x \sin x + x - \frac{\pi}{2} \sin x - \frac{\pi}{2}}$$

$$= \frac{(\sin \frac{\pi}{2})^2 - 1}{\frac{\pi}{2}(\sin \frac{\pi}{2} + \frac{\pi}{2}) - \frac{\pi}{2} \sin \frac{\pi}{2} - \frac{\pi}{2}} = \frac{0}{\frac{\pi}{2}(1 + \frac{\pi}{2}) - \frac{\pi}{2} - \frac{\pi}{2}} = \frac{0}{\frac{\pi}{2} - \frac{\pi}{2}} = \boxed{0}$$

### WS Implicit

$$1) \frac{dy}{dx} [x^3 + x^2y + y^3 = 1] = 3x^2 + x \frac{dy}{dx} + y + 3y^2 \frac{dy}{dx} = 0$$

$$\boxed{\frac{dy}{dx} = \frac{3x^2 - y}{x + 3y^2}}$$

$$2) y - x \sin y = 3$$

$$\frac{dy}{dx} - x(\cos y) \frac{dy}{dx} - \sin y = 0$$

$$\frac{dy}{dx} = \frac{\sin y}{1 - x \cos y}$$

$$3) x + \tan(xy) = 0$$

$$1 + \sec^2(xy) \cdot [x \frac{dy}{dx} + y] = 0$$

$$\frac{dy}{dx} = \left( \frac{-1}{\sec^2 xy} - y \right) \frac{1}{x}$$

$$\sec^2 xy [x \frac{dy}{dx} + y] = -1$$

$$= \frac{-1 - y \sec^2 xy}{x \sec^2 xy}$$

$$x \frac{dy}{dx} + y = \frac{-1}{\sec^2 xy}$$

$$4) \text{ if } y = xy + x^2 + 1$$

$$y = -y + 1 + 1$$

$$\boxed{2y = 2}$$

$$y = -y + 2$$

$$\frac{dy}{dx} \Rightarrow \frac{dy}{dx} = x \frac{dy}{dx} + y + 2x \quad \frac{dy}{dx} - x \frac{dy}{dx} = y + 2x$$

$$\frac{dy}{dx} = \frac{y+2x}{x-1}$$

$$\boxed{x=1}$$

$$\frac{dy}{dx} = \frac{1-2}{1-1} = \boxed{\frac{-1}{2}}$$

$$5) \frac{dy}{dx} [y^2 + 2y = 2x + 1] \Rightarrow$$

$$2y \frac{dy}{dx} + 2 \frac{dy}{dx} = 2$$

$$\frac{dy}{dx} (2y + 2) = 2$$

$$\frac{dy}{dx} = \frac{(y+1)(0) - [1(\frac{dy}{dx} + 0)]}{(y+1)^2}$$

$$\frac{dy}{dx} = \frac{2}{2y+2} = \boxed{\frac{1}{y+1}}$$

$$y' = \frac{1}{y+1}$$

$$y'' = \frac{(y+1) - 1(\frac{dy}{dx})}{(y+1)^2} = \frac{y+1 - y'}{(y+1)^2}$$

$$\frac{y+1 - \frac{1}{y+1}}{(y+1)^2} = y''$$

$$\frac{(y+1)^2 - 1}{(y+1)^3} = \frac{y}{(y+1)^3} = y''$$

$$\frac{(y+1) + 1}{(y+1)^3} = \frac{(y+2)(y)}{(y+1)^3} = \frac{y}{(y+1)^2}$$

$$y' = \frac{1}{y+1}$$

$$y'' = \frac{(y+1)(0) - (1)(\frac{dy}{dx})}{(y+1)^2}$$

$$= -\frac{1}{y+1} \cdot \frac{1}{(y+1)^2} = \boxed{\frac{-1}{(y+1)^3}}$$

$$b) \quad x^3 + y^3 = 8$$

$$3x^2 + 3y^2 y' = 0$$

$$y' = \frac{-3x^2}{3y^2} = \boxed{\frac{-x^2}{y^2}}$$

$$\begin{aligned} & -x^2 y^{-2} \\ & -x^2 - 2y^{-3} + y^{-2} - 2x \\ & \frac{2x^2}{y^3} \frac{dy}{dx} - \frac{2x}{y^2} \\ & \frac{x^2}{y^3} \left( \frac{-x^2}{y^2} \right) - \frac{2x}{y^2} \\ & -\frac{2x^4}{y^5} - \frac{2x}{y^2} \end{aligned}$$

$$y'' = -x^2 - 2y^{-3} + y^{-2} - 2x$$

$$= -x^2 - 2y^{-3} \left( \frac{-x^2}{y^2} \right) + \frac{-2x}{y^2}$$

$$= \frac{-2x^4}{y^5} + \frac{-2x}{y^2} = \frac{-2x^4 y^2 - 2x y^3}{y^5 (y^2)}$$

$$= \frac{-2x^4 + -2x y^3}{y^5} = \frac{-2x(x^3 + y^3)}{y^5}$$

$$= \frac{-2x(8)}{y^5} = \boxed{\frac{-16x}{y^5}}$$

$$7) \quad y + \cos y = x + 1$$

$$\frac{dy}{dx} \Rightarrow \frac{dy}{dx} - \sin y \frac{dy}{dx} = 1$$

$$b) \quad y = \frac{\pi}{2}$$

$$a) \quad \frac{dy}{dx} = \frac{1}{1 - \sin y}, \quad y \neq \frac{\pi}{2}$$

$$\frac{\pi}{2} + \cos \frac{\pi}{2} = x + 1$$

$$\frac{\pi}{2} + 0 = x + 1$$

$$\boxed{\frac{\pi}{2} - 1 = x}$$

$1 - \sin y \neq 0$   
 $-\sin y \neq -1$   
 $\sin y \neq 1$   
 $y \neq \frac{\pi}{2}$

$$c) \quad y'' \Rightarrow y' = \frac{1}{1 - \sin y} = (1 - \sin y)^{-1}$$

$$y'' = -1 (1 - \sin y)^{-2} (0 - \cos y y')$$

$$= \frac{\cos y \left( \frac{1}{1 - \sin y} \right)}{(1 - \sin y)^2} = \frac{\cos y}{1 - \sin y} \cdot \frac{1}{(1 - \sin y)^2} = \frac{\cos y}{(1 - \sin y)^3}$$

$$(8) y^2 = 4+x$$

$$2yy' = 1$$

$$y' = \frac{1}{2y} = \frac{1}{2}$$

$$|y = 1$$

$$|(-3, 1)$$

$$y^2 = 4+x$$

$$1 = 4+x$$

$$|x = -3$$

$$(-4, 0) (0, 2)$$

$$\frac{2-0}{0+4} = \boxed{\frac{1}{2} = \text{slope} = y'}$$

$$9) \frac{dy}{dx} = y^2(6-2x) \Rightarrow 6y^2 - 12xy^2$$

$$y'' = y^2(0-2) + (6-2x)2yy'$$

$$= -2y^2 + 12yy' - 4xyy'$$

$$= -2y^2 + 12y(6y^2 - 12xy^2) - 4xy(6y^2 - 12xy^2)$$

$$= -2y^2 + 72y^3 - 144xy^3 - 24xy^3 + 48x^2y^3$$

$$= 2y^2(-1 + 36y - \underbrace{72xy - 12xy}_{-84xy} + 24x^2y)$$

$$= 2y^2(24x^2y - 84xy + 36y - 1)$$

$$2\left(\frac{1}{4}\right)^2 * (24 * 9 * \left(\frac{1}{4}\right) - 84 * 3 * \left(\frac{1}{4}\right) + 36\left(\frac{1}{4}\right) - 1)$$

$$= \boxed{-\frac{1}{8}}$$

$$10) \frac{dy}{dx} [xy^2 - x^3y = 6]$$

$$= x \cdot 2y \frac{dy}{dx} + y^2(1) - [x^3 \frac{dy}{dx} + y \cdot 3x^2] = 0$$

$$= 2xy \frac{dy}{dx} + y^2 - x^3 \frac{dy}{dx} - 3x^2y = 0$$

$$= 2xy \frac{dy}{dx} - x^3 \frac{dy}{dx} = 3x^2y - y^2$$

$$\frac{dy}{dx} = \frac{3x^2y - y^2}{2xy - x^3}$$

$$b) (1, 3)$$

$$1(y^2) - 1^3(y) = 6$$

$$(1, -2)$$

$$y^2 - y - 6 = 0$$

$$(y - 3)(y + 2) = 0$$

$$y = 3 \quad y = -2$$

$$\frac{3(1)^2(3) - 9}{2(1)(3) - 1} = \frac{3 \cdot 3 - 9}{6 - 1} = \frac{0}{5} \quad \text{slope} = 0 \quad \boxed{y = 3}$$

$$\frac{3(1)^2(-2) - 4}{2(1)(-2) - 1} = \frac{-6 - 4}{-4 - 1} = \frac{-10}{-5} = 2 \quad \text{slope} = 2$$

$$\boxed{y + 2 = 2(x - 1)}$$

$$c) \quad 2xy - x^3 = 0 \quad 0 \neq 6 \quad \text{DNE}$$

$$x(2y - x^2) = 0$$

$$x = 0 \quad 2y - x^2 = 0$$

$$2y = 0$$

$$y = 0$$